1. In a class, Satish ranks |4, <
Avinash ranks 18th fromthe botom 1,
are there in the class?

(A} 42
(B) 32
(C) 31

(D) Cannot be determined

fom the top and
"W many students

A RIS TS o o | e gae e
SITER CoTan 189N WA S0 | FIP1 0% wees wy Wi s

(A) 42

(B) 32

(C) 3

(D) wfwefa

2, If A+ B means A is the mother of B; A — B means

A is the brother of B; A % B means A is the father of
B and A x B means A is the sister of B, which of the
following shows that P is the maternal uncle of Q7

(A) P-M+NxQ

(B P+SxN-Q

(C) Q-N+MxP

D) Q-S%P

3 A + B A, B~43 571, A~ B W17 A, B-43 &1,
A% B W14 A, B-93 9731, A x B 97 A, B-49 (3 &,
R e oo wliemdfs P, Q-7 w1 fAu FAe
(A) P—M+N;¢.Q

(B) P+SxN-Q
(C) Q-N+MxP
(D) Q-S% P

/

HR.-'S.‘H.‘-IHFIIHH
3

hoose g suitable word for the blank space:
A _ robber was arrested yesterday.
(A} notorigus
(B) famous
(C) noted

(D 1 eputed

4. At acertain rate of interest, Rs. 300 for 4 years
and Rs. 500 for 3 years were given on loan and in lut.hll
Rs. 162 was obtained as interest. What is the rate of
interest?

(A) 6%
(B) 7%
(C) 8%

(D) 5%

fafoe 502 =T 300 519 4 T a w422 500 B
3 T T 413 TR, GG 162 B 33 e I (709 209
TEY

(A) 6%

(B) 7%

(C) 8%

(D) 5%

5. Choose suitable word to complete the sentence in
a meaningful manner:

Between India and Pakistan, the Kashmir issue is
a bone of

(A) contention

(B) conflicts

(C) clashes

(D) discord
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6. Manika Batra is associated with:-
{A) Chess
{B) Table Tennis
(C) Badminton
(D) Cricket

sferep AT T -
(A) F=I=T HTY

(B) 5= = A
(C) FERrGE A
(D) f&Fraha Ay

7. Correct the following sentence by replacing the
underlined phrase:
The four of them wgs thrill and living happy
together for a very long time.

(A) themwere thrilled and lived happy together.
(B) them were thrill and living happily together.
(C) them were thrilled and lived happily together.
(D) No change

8. The H.C.F. of two numbers is 23 and the other
two factors of their L.C.M. are 13 and 14. The larger of
the two numbers 1s

(A) 322
(B) 299
(C) 276
(D) 345

Hi0 HeA1A 51319, 23 72 T F.H.9.-F W s
o 25 13 @& 14| %87 72 ==

(A) 322

(B) 299

(C) 276

(D) 345

/9, Match the following;
Famous instrumenta]ist Instrument
i. Pt Hari Prasad Chaurasia a. Tabla

ii. Pt Shiv Kumar Sharma b. Flute
. Amjad Ali Khan ¢. Santoor
1v. Ustad Zakir Hussain d. Sarod
(A) i-d, ii-b, jii-a, iv-c
(B} i-a, ii-c, iii-d, iv-b
(C) i-b, ii-¢, ifi-d, jv-a
(D) i-c, ii-a, iii-d, iv-b
frEfeate eemm e

fare A E IR

i “fe® 2fd oom Brafm a ©EE
i, =ffew &g g = b. i
i, SIS 5 A c. Fgd
iv. Tam e mEe d. AEm

(A) i-d, ii-b, iii-a, iv-c
(B) i-a, ii-e, iii-d, iv-b
(C) i-b, ii-c, iii-d, iv-a

(D) i-g, ii-a, iii-d, iv-b

A0, Which of the following game is associated with
the term “T"7

(A) Tennis

(B) Golf

(C) Polo

(D) Billiards

frfeis o e sy T e TG ¢
(A) -Irrﬂﬂ

(B) 4"
(C) cHIE
(D) Taferanés

11.
the g1

2
th

e



11. Choose h® alternative single word sybgtitute for
the given expression:

Children and grandchildren of a pergon—
(A) Descendants

(B) Decendents

(C) Dependents

(D) Precursor

12. A’'s salary is 20% less than B and B’s salary 1s
20% less than C. How much per cent is A's salary less
than C?

(A) 36%
(B) 25%
(C) 56:25%
(D) 16:67%

A-F (394 B-¥ (FOFA T 20% T4 4 B-F
@es C-3 ([@Oma g 20% ¥ | A-T (T C-9 (04
AT TS MO
(A) 36%
(B) 25%
(C) 56-25%
(D) 16:67%

(5)
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13. Arrange the fractions :

11y
T n ascending
order:-

14. 3 pumps working 8 hours a day, can empty atank
in 2 days, How many hours a day must 4 pumps Work to
empty the tank in 1 day?

(A) 11

(B) 10

) 9

(D) 12

3B st e 8 9% G T3 o= B 2 T A

72 | T TE 9| @G T 4 T At & TiEheE | A
<& =S #Ana e

(A) 11
(B) 10
© 9
(D) 12
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15. Incertain kind of Brass the ratio between Copper
and Zinc is 5: 3. In one such kind of 24 kg brass, if 3 kg
is mixed then what will be the ratio between

copper
copper and zinc?
(A) 4:7
(B) 2:5
(c) 221
(D) 5:9

= S -
G Zwta e O @ W SRS 5 - 3 | & o9

¥ ,,4-"' i e Filw 1 e i i
24 (FREF [PTETE -r;T.J 3 (CERET Tl CE T T T Al

& WElE

L | TR AT
(A) 4:7
(B) 2:5
(c) 2:1
(D) 5:9

Which one of the following is correctly spelt?
(A) Diarrhoea
(B) Diarrheoa
(C)
(D) Diaryhia

Diarhoea

7 1. *Ns'ﬁ:ﬁ:."s'irux' was reported in 1998 for the first
time in:-
(A) India
(B) Bangladesh
| (C) Malaysia
l (D) Indonesia

1908 HTA ‘el SiEE™’ 44w F&rd WitH:-

(A) SRTS
(B) e

(C) WIS
(D) TwwPRITS

.r'/fiﬁ- “-Hrndm-i,“.__. alady. aman gaid, “Her maother 15 the
only daughter of my mother-in-law.' What1s the manto
the lady?

(A) Uncle

(B) Father

(C) Son

(D) Husband

7 e TeieE e,

(75 #i[A0e
'177|!7'T:ﬁ PNEIE

aaEE Ay, o

¢ 25 B

=5 =ETET

g W W el

e TR
(A) T
(B) o=t
(C) ==
(D) =&

A9. Simon Commission of 1928 was boycotted
because:
(A) Congress felt that the people of India are
entitled to Swaraj.
(B) it supported the Muslim League.
(C) there was no Indian Member in the
Commission.

(D) there were differences among the members.

1928 HI(F FEaw SR s S e B

(A) T WA TARE SISRR FAE e
e |

(B) «fb e Meie Awef 2afes |

(C) FRME (! SRS w9y e =1 |

(D) TS W4 TeTge f |
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w20. Choose the suitable preposition 1o complete the
following sentence:
The snake was killed

(A)
(B) with
{C) by
(D) at

a stick.
against

21. K. Macmillan invented:-
(A) Modem Printing Technology
(B) Barometer
(C) Bicycle
(D) Centigrade Scale

. Wi SAwE SR
(A) e 2 2

(B) WAl

(C) A==

(D) GiFoLas (¥4

22. A, B and C can do a piece of work in 20, 30 and
60 days respectively. In how many days can A do the
work if he is assisted by B and C on every third day?

(A) 16 days
(B) 15 days
(C) 12 days

(D) 18 days

A B 9% C @3 31w giEE 20, 309 60 Tt
Far® 7 | B's Cafe offs g e A (@ HE 3 O
A TR Frel (0F I

(A) 16 T

(B) 15 fim

(C) 12w

RB/SILSI E)18

23. Which of the followings has bagged the ‘Besl

Film' in 65th National Film awards” 20187
(A) MNagar Kirtan

(B) Village Rock stars

(C) Newton

(D) Mayurakshi

G s 65w wE b sz’ 2018 62
‘ol vEieE’ e T v

(A) o= FrEw

(B) Ter=w 7% %A

() TG

(D) ATE

£4. Which is not a river in North Bengal?
{A) Jhaldhaka
(B) Kaljani
(C) Raidak
(D) Haldi

@ Temara w0
(A) TG

(B) =Hersiie

(C) e

(D) ==

following sentence:

The servant was loyal ___ his master.

(A) by
(B) to
(C) with
(D) at

(D) 18 fiw

P S

48. Choose the suitable preposition to complete the
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6. EPIC stands for
(A) Electronic Photo Identity Card
(B) Election Photo Inspection Card
/ey Electoral Picture Identification Card
Dy Electors Photo Identity Card

EPIC-g7 =9 -
(A) EreTEnlET G HETE60 G
(B) BrEvae (! oL el

(C) T A wEEAEE WE

(D) Breranes] (FI0! wETEnL 6

20, Fillin the blank:-
SCD, TEF, UGH, s

(A) v
(B) Ul
(C) CMN
(D) OT

WKL

A
b

SCD, TEF, UGH, ., WKL
(A) VI

(B) UJ

(C) CMN

(D) UT

ik TR S g

L R T

sing:-
30, I

and g

’13'.. Earthquake 15 measured U
(A Seismograph
(B) Odograph
(C) Barometer

(D) Epigraph

(

i Tell 2-
(A) T arEl
(B} GBS LV
(C) AREmE ==

(D)

nu

wafEs(TEE ATl e

/29. Find the odd man out: & 27, 64, 100, 125, 216,

343,
(A) 125
(B) 100
(Cy 27
(D) 343

e AvefE T s Fean Wefn @ &
§. 27, 64, 100, 125, 216, 343

(A) 125
(B) 100
(C) 27

(D) 343

4 TOV LM WNeP g TUY

wIL
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In these questions, the
following

' Directions (Qs. 33 to 37):
ith the 1

30, If ‘P’ means ‘%', ‘R’ means *+, *T" means =+
x, + and = are used W

| and ‘S’ means ‘', then |BT3IPOSERS is symbols +, —,

meanings:

| (A} 2
(B) 12 A+B means A is greater than B.
() 52 A—B means A is either greater than of equal to B.
AxB means A is equal to B.

A+B means A is smaller than B.
al o B.

(D) -1_!]

of p oA ', R WA '+, T W ‘4" G S W A=B means A i§ gither smaller than of equalt .
+_+ 73, o4 18T3P9SER6 TA For each question, you have fo assume given

(A) 2 gtatements (o be true and then decide which of the two

(B) 12 given conclusion/s is/are true. Give answer.

[{".1 52 (A) If either conclusion I or 11 is true

i 1 (B) If only conclusion Il is true.
gl ~ ]3 (C) If only conclusion I is true.
(D) If neither conclusion [ nor Il is true.

31. The average of 8 numbers is 21, If each of the
the average of the new serof ﬁl’"T (Qs. 33 (4@ 37) 3 GRS +. = X * aat

aumbers is multiplied by 8,

bers is:-
numbers 1s fﬁﬁ‘ﬂ%l %I".TF-’{TQIE e @S TEE .
(A) 8 A+B2 9 A, B-99 (4T T2 |
(B) 21 A_B-7 54 A, B-47 (X0F I T4 A |
(C) 29 AxB-aad A, B-a43 HIE |
(D) 168 A+B-7 99 A, B-47 (4T =5 |
6, & B e 15 21 | ATO T 8 A S A=B-7 B¢ A, B-G% (VG 6 W T
. T 2 AR 7 T ﬁﬁﬁmﬁl,mwwﬁmﬁliﬂﬂﬁbﬁﬁqﬁ
oy o B TETE R e e s AE HATE
(A) 8 ] G AE T
Y
(B) :] (A) FraTe 1 =e 1179
() 29 (B) e e 11 71 |
(D) 168 (C) @aeaE g 157 |
A3 Plants that grow in saline water 47 called:- (D) Frare 1 593l 1L @HhE e = |
(A) Mesophytes 33. Statements:
(B) Hydrophytes P-Q, RxS, P+T,Q+R
| (C) Halophytes Conclusions:
#‘ (D) Thallophytes L PxR
. T+Q

s

: weerE o esl HrEITEE I
| (A) CRGATETED™ P_Q, RxS, P+T, Q+R
i

a

(B) RTureEsA
(C) TTATeiEeH 1. PxR
1. T+Q




]

tn

HBK.‘:'."H.".HHEJ.-".‘H

34. Sialements:

FxG, K+G, 1 +F, K=R

Conclusions:
. L+K
II. G=R

fagfe @
FxG, K+G, L+F, K=R
T
[. L+K
1. GxR

Statements:
M-N, Z+Y, T=N, YT
Conclusions:

. T+M

. MxT

R :
M-N, Z+Y, T=N, YxT
ey ¢

[. T=M

[, MxT

. Statements:
ExG, D+F.H:E,D+G
Conclusions:

L HxG
I. E+F

fagfe ¢
ExG,D+F H=E, D+G
forery ¢

1. HxG

. E+F

37. Statements:
U+V, W-Y, W+F, YxU 10
Conclusions: i
I. W+U
L. F+V
Il:'“-:‘li:'i -
U+V. W-=Y, W+F, YxU
o 2

. W+U
1. F+V

el (F
4‘|| #

41

38 LTE is a term related to:-

(A} Mobile communications WS
(B} Genetic research

(C) Extremist organisations

(D) Air wavel

LTE 34l 7&:-

(A} CRETEE GUISIICEls! UaEE A
(B) & T ST ALK

(C) Tae¥ FRAAE A

(D) faam A& A

A0, Cauvery water dispute is between:-
(A) Tamil Nadu and Kamataka
(B) Telengana and Tamil Nadu
(C) Andhra Pradesh and Telengana
(D) Karnataka and Kerala

ﬂrﬁﬁﬁ‘lﬁﬁ—

(A) g € T
(B) (oA @ SRR
(C) i =0 8 ETETE ]

(m E‘ﬁﬁﬂ'ﬂﬂw




(117

40. A starts business with g,
5 months, B joins with A as his Bt
profitisdividedintheratio2 : 3 w, ll‘l‘l-'
in the capital? alig

{A) Rs.8.500
(B) Rs.8,000
(C) Rs.7,500
(D) Rs.9,000

A3 5005 M AT e e 5

2,500 and after
After a year, the
B’s contribution

4 A B SIS
} TSI B9 T,

cals G | OFER TNH A0

B SaAE e v RS -?-r,--‘_;ll_-;:- :
(A) B,500 b
(B) B.000 o
(Cy 7.500 B=l

(D) 9000 G

41. Fill in the blank using a suitable word:
While crossing the highway a five vear old child
was knocked by a car,
(A) out
(B) away
(C) down
(D} up

42. Choose a suitable word(s) for the blank space:
I vour letter yesterday.
(A) received
(B) has received
{C) have receive
(D) did received
43. Article 50 of the Indian Constitution deals with
the matter of
(A) promotion of Internatior
(B) equal justice and free legal aid.
(C) separation of judiciary from executive.
(D) uniform civil code for the citizens.

1al peace and security

sraEE AR 50753 ¢l @ REnEe AL IF,
T = -
(A) STwEes =g e Faeres S |
(B) ¥ 51 & ey =Rf e |
(C) s SRR (U e |

RB!SJ.-‘T.H:‘H:‘HIH

peed of

44. A man sitting in a running train at a 8
n the

45km/hour observes that a goods train running o
parallel line in the opposite direction completely Crosses

him in 6 seconds. If the length of the goods tramn 15 125m,
find its speed.

(A) 30 km/hour

(B) 40 km/hour

(C) 35 kmvhour

(D} 45 km/hour

45 Tl a1 Tl SfERm G GEAiers 51
it % T (e (1 B e AT ety st i o1
6 T sl s o | 5w wE el T 125m =,
g =E A 'I_rl'r'ﬁ,'l |
(A) 30 HR/aw
(B) 40 =fi/ 2%
(C) 35 = /amt

(D) 45 f=h6 /9™

45. The confluence of rivers Bhagirathi and
Alaknanda is at:-
(A) Rudraprayag
(B) Devprayag
(C) Haridwar
(D) Rishikesh

() e, T T o 2
(A) Fa=w

(B) oS

(c)

(D) stfaare ww TR e |




K

48.

47.

(12)
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46. [nternational Court of Justice is in:-
(A) France

(B) USA

(C) Canada

(D) MNetherlands

wrgElfEs e HAEe:-
(A) TFCH

(B) %E &¥ @G-S

(C) TEHET-08

(D) FHERIEH-E

““It is better to be late than never'’ means:-

(A) When delayed, things are done more
thoroughly.

(B) It is better to start something after others
have, than not to do it at all.

(C) Delayed performance reflects better
judgement.

(D) An early bird catches the worms.

Which of the following is the largest four digit

aumber which is exactly divisible by 357

(A) 9985
(B) 9975
(C) 9965
(D) 9995
R T T AR 35 TR

frere ¢

(A) 9985
(B) 9975
(C) 9965
(D) 9995

5. Look at this series: 53, 53, 40, 40,
What number should come next?
(A) 27
(B) 14
() 12
(D) 53

i ore 3 53, 53, 40,40, 27, 27, ... IR
Fe=i HHE
(A) 27
(B) 14
(C) 12
(D) 53

_50, What will come in place of *?" mark?
Safe : Secure ;: Protect : 7
[A) Sure
(B) Lock
(C) Guard
(D) Conserve

eIy (1) T & TAAT
Safe : Secure :: Protect : ?
(A) Sure

(B) Lock

(C) Guard

(D) Conserve

&1. What is the meaning of the expression
horse'"?

(A) A nightmare

(B) A black horse

(C) An unforeseen competitor

(D) An unknown person

€3. What is the opposite of inflation?
(A) Stagflation
(B) Deflation
(C) Re-flation
(D) Sub-flation

27, 27,

A dark
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/53. [n a certain code language
123" medns ‘hot filtered coffee’

1356 means ‘very hot day®
+sg9' means ‘day and nighy’
whichof the following numeral stands for 'very' ?
(A) 3 '
(B) 2
) 9
(D) 6
e S SEE
(123" WA ‘hot filtered coffee’
356" WA “very hot day’
1589’ W= ‘day and ni g,.]n' o=
& eyl ‘very' (IR
(A) 3
(B) 2
(C) 9
(D) 6

54, Father is aged three times that of his son. After
8 years he would be two and half times his son's age.
After another 8 years how many times will he be the age
of his son?

(A) 2= times

(B) 2- umes

pd | e | L

(C) 2 times

(D) 3 times

mmmwﬁmﬁﬂ.szﬁwﬁﬁmﬁ

i s O 2 e 7| 6 8T
AR T PO T

l
(A) 12 L]

|
(B) 23 @

(C) 209

rmfxm.::;m-;m

55, Synonym of the word “Immunity” 18
(A) Celerity
(B) Impunity
(C) Spontaneity
(D) Alacrity

56. Choose the alternative single word substitute for

the given expression:
‘Silver' referstoa
refers to

(A) Sixty

(B) Fifty

(C) Twenty five
(D) Hundred

metal but placed before ‘Jubilee’

57. ‘Bar is the unit of which of the following?
(A) Velocity
(B) Pressure
(C) Force
(D) Intoxication

T e @Emiba vt
(A) sieras

(B) ot

(C) =

(D) &=l

(D) 3 a9

E——
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sg8. Sclecta guitable figure from the four alternatives
that w ould complete the figure matrix.
E—

|O

+

-

Sipe 5wl (AT THE Tl T TR
s ool o ¢

CHIE

+

(1 (2} (3) (4)
(A) 3
(B) 2
© 1
(D) 4

. 215 more than

59, The marked price of an article 18

.ts costprice. A shopkeeper allows R, 40 discounton the 6l.
purchases of Rs. 960. Whal is the profit per cent? RreAT)
(A) 15% the le
(BY 12% T'Ig'h'l

l(-| 1018

(D) 20%
7|
= e aEm v e e e 20% =
-_"ﬂl

et | s g 960 B farfee @ e 40 Bl
BG (7 | Fitey «EF=l T3 91

(A) 15%

(By 12%

(C) 10%

(D) 20%

60. Which least number must be added to 1056, so

that the sum is completely divisible by 237
(A) 1B
(B) 3
c 2

(D) 21

L056-2 AR Ao G HRAT Catel 35, (o
93wy oo} FareTen 2t

(A) 18

(B) 3

©) 2
(D) 21
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61. A P K, X, S and Z are sitling in a row, S and Z
are in the centvs: ¥ .m_it P are at the ends. R is sitting to
the left of A. X is siting to the left of S, Who ie mhmc
right of P?

(A) 8§

(B) X

(C) A

(D) Z

A P.R.X,S 9% Z «af wifars
7 o | A O9P HE 0¥

T "
| e M|

wiE | X, S- @z 1 e A s
0 F

(A) S

(B) X

(C) A

(D) Z

fll. Choose the .\ll.“'-':hl;_‘ [1[L'}"'i"\!1ll.}1'| to '-"ll'|1pl|.‘l|: the

following sentence
The boy was suffering fever
(A) with
(B) from
(C) in
(D) by

l/ﬂJ. In a certain code KOLKATA is coded as
1151211012001, How is BANGLA coded?

(A) 020114071201 -

(B) H_’ul?lllﬁﬂ?ll.]

(C) 020114210311

(D) 020514070101 ~

gaig KOLKATA &%
3 s BANGLA & &

@ AEies
11151211012001 =<1 &)
o B

(A) 020114071201

(B) 031721250710

(C) 020114210311

RB/S Hl.}il”f}ﬂﬁ’

M’_ The greatest number of four digits which 18
divisible by 15, 25, 40 and 75 is:-

(A) 9,600

(B) 9,400

(C) 9,000

(D) 9,800

|5, 25, 40 =8 75 == e 51 HEFH e
etz

(A) 9.600

(B) 9,400

(C) 9,000

(D) 9,800

east and then again walks
this he turns to north

65. A man walks 1 km to
7 km in the same direction and after
and walks 4 km. Find out how far he is from his starting

(D) 020514070101

point.
(A) 5 km
(B) 4km
(C) 3km rf
(D) 7km =
= g
M
v
gew Afe & 1 B 2o o7 WEE €2
'ﬁ@ﬁﬁiﬁﬁiﬁﬂmawmmﬁmﬁﬁﬁﬁml
WWMQﬁmWamﬁwWﬂﬁ@
e |
(A) S%ﬁ :rt.-'-“"’mt TA
(B) 4 B v 50 3.\
() 3B/
(D) 7 & ,"3'(1 HHLBA
T
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§6. A traincan travel 50% faster than a car. Both start
from point A &l the same time and reach point B 75 kms
gway from A at the same time. On the way, however, the
train lost about 12.5 minutes while stopping at the
ons. The speed of the car is:-

(A) 120 kmph

(B) 110 kmph

(C) 100 kmph

(D) 130 kmph

stati

G375 G793 sifts To=E 50% 78 5508 #lA |
Tey G AW A (UF TE 0F A 92 75 [/ @
B #1732 Fw (W | Tt G O FromE
= 12-5 WEG 78 = siifeiva st Te:- I

(A) 120 B=&fa =fe =%

(B) 110 &R =f® 9%

(C) 100 &% =f® 95

(D) 130 &f =f® 9%

67. Choose suitable wordto complete the sentence in

a meaningful manner:
The host received the guest with open

| (A) door
(B) manner

(C) mind

l (D) arms

68. A building where Dead Bodies are kept:
(A) Mortuary
(B) Catacombs
(C) Ossuary
(D) Hospice

n number when divided by 175 leaves a

69. A certai
nber is divided by 25,

remainder of 132, If the same nuf
what will be the remainder?

(A) B

B) 7

(C) 6

(D) 9

T SR 175 i Se) FAE 132 ST

o | (I3 SERIIEE, 25 EE ©l7 e Sl F At
(A) 8
(B) 7
(C) 6
(D) 9

70. A man earns Rs. 450 as an interest in 2 years on
4 certain sum invested with a company at the rate of 12%
per annum. What amount of sum was invested by the
man in the company?
(A) Rs. 1785
(B) Rs. 8715
(C) Rs. 1875
(D) Rs, 1587

o TG 12% 7737 30 5% DIl 2 JeLaE T L9
T AT 450 0 I <A | @ e v B Ao
faferratst At ¢

(A) 1785 o

(B) 871551

(C) 1875 Brl

(D) 1587 b=l
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71. Three of the following four are alike in a certain
way and so form a group. Which is the one which does

not belong to that group?
(A) Lion
(B) Tiger
(C) Wolf
(D) Hyend

fersfefae sralba W00 fawhg fzﬂiﬂﬁﬁ o
o1l GFE cord wweE | @ €% ooz wwsfe wu e

(A) Tz

(B)

(C) FFT%

(D) EF=

g

72. If ‘FISH’ is ‘EHRG’ then ‘JUNGLE' is:-
(A) KVOHMF
(B) ITNFKD
(C) ITMFKD
(D) TIMFKD

«f% ‘FISH' @ ‘EHRG’ el o, IR w72 ‘JUNGLE'

-
(A) KVOHMF
(B) ITNFKD
(C) ITMFKD

K Ef.‘iHLSHE].-"IS

73. Choose the alternative single word substitute for

the given expression:

A particular area of a project—
(A) Site -

(B} Sight

(C) Cite

(D) Place

74. Match the following headquarters with their
international organisations:

a. Rome 1. UNESCO
b. Paris 1. INTERPOL
c. Geneva 111, FAO

d. Lyon IV. WHO

(A) a-IV, b-II, c-1, d-111
(B) a-I11, b-1, c-IV, d-I1
(C) a-l, b1, c-IIL, d-1v
(D) a-I1, b-IV, c-1, d-II

’rﬁcﬂammﬁamﬂwﬁaﬁﬁ‘ﬁmmﬂﬁ*
T o 2

a. (I [. THEL
b, e 11, THEE
c. (ES . =4

d. T IV. ®

(A) &IV, b-1I, c-L, d-m
(B) a-III, b-1, e-Iv, d-1l
(C) a-1, b-11, c-IIL d-Iv

(D) TIMFKD

VN

AR O DEF crmr DL

(D) a-Il, b-1V, o1, d-1l
pn pi0 POEESHT
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75, XXI Commy mwealth Games” 2018 was held in:-
(A) Delhi

(B) Birmingham

(C) Queensland

(D) Kathmandy

XXI #=eamd oofas’ 2018 Sfe e
(A) TwE

(B) =ffifezm

(C) TS

(D) Faars

76. Choose suitable word to complete the sentence in
a meaningful manner:

The soldier was as brave as a
(A) mountain

(B) lion

(C) tiger

(D) snake

77. Change the voice of the sentence given below:
‘My friends are watching the match’'.
{A) The match is being watched by my friends
(B) Thematch had being watched by my friends:
(C) The match is watched by my friends.
(D) The match has being watched by my friends,

78. HIV is spread by:-
(A) Sharing bed
(B) Sharing food
(C) Shaking hands

(D) Sharing needles of injections

HIV =&E:-

(A) o2 faEmt IIET T2

(B) <fR17 ©ITs A [ 92 Y_(A A
(C) Faavs aidl

(D) TGS I 5 TN T

n sells an article at a loss of 10%:. If he had

al
79. Am gained 109%. The

sold it for Rs. 40 more he would have
;JUH[ price of the article is:
(A) Rs. 300
(B) Rs. 200
(C) Rs. 250

(D) Rs. 180

o e «=h 5 10% Fers @ 9@ | 1
w7 fe i wiz 40 et (e wirsl e saree Ora oF 10%
#E 5% | Faiioe Sl 55:-

(A) 300 Gt

(B) 200 5

(C) 250 b

(D) 180 5=

80. Find the HCF of 54, 288, 360.
(A) 54
(B) 36
(C) 18
(D) 108

54, 288, 360-93 5179, Fefy |
(A) 54
(B) 36
(C) 18
(D) 108



g <eraifon Ao o Fe

g1, “HioE 2o
(A) BIF #IT® e S

(B) SR e TR
(C) el
(D) AEld

s Atsrrfa fow ad Fre
82. “fawie GoAl
(A) F= ?;ﬁ"m
(B) &%
(Cy HAFT
(D) #iegs

I Tws 3
83. (A) TR

(B) =T
(C) vaIE]

faoile #ai el o 5

84. T4
(A) 58
(B) GAT0
(C) =P5I8
(D) =

(19)

faeifrs »=s facdfa =90 2
86. ==H
(A) A=
(B) fai=ral
(C) T
(D) =&

T P! T
§7. “=md ST = &
(A) S
(B) ==l
(Cy =
(D) ZgmafE

feifre == fef e 2
88. =g
(A) =&
(B) T2
(C) 194
(D) Wi

G At Ao ud S

89. ‘e W"
(A) TS Rl
(B) 15T
(D) ==y e

AT S T §
90. T (=t Fs S
(A) Tead
(B) StamE
(C) &Iea
(D) #AEE

RB!EHLSHE}HE
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@ FEED 7w
91, (A) Td
(B) *@mHIEHE
(C) (ErsifE

(DY =<
Tl T §
92, (A) w4
(B) ==
(C) T
(D) EEei

Fors wowe s +S epsafem (93-97) Ten fiw e

\§% crae] AR AG-HEIGE A SAIEH IF ACH A
so bR fREE 7@l e | o=l <=
A AR G SR S T e | 2 G
Bera AATE AW T A9 e e o R
ra s e B cde! Rewms sfe R S ERi]
er-ste TR i SHEE o T R FEE 0
srarE (4, Zosls) Sl (W 4T TF 0 a6
opr B GITE (NS LT ARRE T4 EER (L
rAGATeE ARERED T AT @R T fopfes |
HIGERTIA 6% e e IREET— MIEEIISE
ST AT AW meammww
ey SR FEY AE T | OR Sl TAEACR. P
maee SEEn i

93, TG YOWE TR TR ¢
(A) 4B
(B) @eal
(C) fom
(D) 7S

94, W wUH? o F ¢
(A) PP
(B) T&HS
(C) =¥

(D) =

95, ¥ s wE WY
(A) T
(B) B
(C) TH
(D) A

96, AL =ity wd S
(A) AT
(B) el
(C) Hiw
(D) A

97, TofHEE WHwID (I I o ¢
(A) T
(B) gEia
(C) T
(D) Wi Tl

(@ T 3
98. (A) TFa
(B) A
(C) =siem
(D) Tead

@ AL AT
99. (A) e
(B) @=8
(C) st
(D) FETS 7@

@R A0 AH?

100, (A) et
(B) =ifafs=
(C) TAT4E
(D) WG




